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PERCENTAGE

If A is 28% more than B and C is 25%
less than the sum of A and B, then by
what percent will C be more than A
(correct to one decimal place)?

g A, B T 28% 0% B, T C, AR B &
IRT § 25% A B O C, A T o= mfeem
e BRT? (QFHed 9§ S Gah RIF b7
(a) 32.2% (b) 28%

(c] 43% (d) 33.6%

If the radius of a right circular cylinder

is decreased by 20% while its height is
increased by 40%, then the percentage

change in its volume will be?

ofe forsdl o gl 9ot @ RS @ 20%

geTT Wl B, Wdfdh SHA Gds 40% @

G I &, T SO 7ga H Hferrd wfac=

foRer=Tr BT

(a) 1.04% increase/ 1.04% gf&

(b) 10.04% decrease/ 10.4% &HI

(¢) No increase or decrease/= 1 Jla =
B FHHI

(d) 10.4% increase/10.4% &

Raghav spends 80% of his income. If his
income increases by 12% and the savings
decrease by 10%, then what will be the

percentage increase in his expenditure?

R 30 31 A1 80% T el 8 | A IR
AT H 12% &1 ghg BRI B 3R 97 10% FH
BRI B, O 98 T # fope ot gfe wnfe
(a) 20.5 (b) 16

(c) 17.5 (d) 22

A number is first increased by 16% and
then increased by 14%. The number,
so obtained, is now decreased by 30%.
What is the net increase or decrease
percent in the original number (nearest

to an integer)?

Rt TaT 7 Bl 16% &1 3 3R R 14%
T ghg B SR B | 36 TSR WIS J&T B 3%
FeI] ST 8 | ol 9T § g8 g A1 1 F
I ORI T ¥, (YF QUi & feahedH)

(a) 6% increase/ 6% Tl

(b) 7% decrease] 7% T

(c) No increase or decrease/s T gfa o

Bl I

(d) 9% decrease/ 9% T

When the price of an item was reduced
by 25%, then its sale was increased by
x%. If there is an increase of 20% in the
receipt of the revenue, then the value
of x will be?

e (R TR & Hed T 25% TSl A 8, Al
IHH! 93 H x% g BRI B AL 0T A
20% I ghg 8RN &, 1 X & A4 T 89717
(a) 50 (b) 60

{c) 45 (d) 75

In a constituency, 55% of the total

number of voters are males and the rest
are females. If 40% of the males are

illiterate and 40% of the females are
literate, then by what percent is the
number of literate males more than that
of illiterate females?

fErell foraTm—ar ¥, AaRl &1 g TR &
55% UV 3R AN AR & | A 40% Al
R 40% HEaTS A 8, ar e AR
1 Tar=1 H, AT gont & e fhas ufrrd
SIECN. g

3 2
() 2237 (b) 185
2 2
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If 60% of a number is 120 more than
20% of the number, then 28% of the

1
number is less than 335% of the

number by?
Ife fad T 1 60%, TRET & 20% o
120 =1Eh B, 7 TT T 28%, THH Tl &

33%% T fohd=T ®F BHTT?

(a) 14 (b) 12

(c) 16 (d) 15

A is 25% more than B and B is 40% less
than C. If C is 30% more than D, then
by what percent is A less than D?

A, B 9 25% 1% B 2R B, C I 40% &
21 3¢ C,D ¥ 30% 3P 8, al A, D ©

fera= wimra &9 87
(@) 1.5 (b) 2.5
(c) 4 (d) S

1
In a class, 835% of the number of

students are girls and the rest are boys.
If 60% of them number of boys and 80%
of the number of girls are present, then
what percentage of the total number of

students in the class is absent?

P : 1 .
Teh e ¥ A=t 9y HeT ar 835% SERI

B 3R Y &Fed & | IA 60% Few AR 80%
STefRdT SuRerd &, al ol # g =iy § 9
ey miferTer faemeif srguferT &7

2 2
(a) 263 (b) 223

1 1
() 233 (d) 123

A spends 65% of his income. His
income is increased by 20.1% and his
expenditure is increased by 25%. His
savings?

A IR 37T T 65% T FRAT 7 | THH I
A 20.1% & gfag 811 B 2R 90 AT H 25%

11.

12.

13.

e

T gl BRI 8, < THD! qAT H (vl Jiag /T
BRIl BY

(a) Increase by 11%/ 11% gf&

(b) Increase by 5%/ 5% df<

(c) Decrease by 5%/ 5% &

(d) Decrease by 11%/ 11% &

If the diameter of the base of a right

circular cylinder is reduced by 335%

and its height is doubled, then the
volume of the cylinder will?
afe U TH JHER o B ARR & AT S

1 .
33§% FH PR ST ST & SR S Sers

SR R & FRI B, 7 a9 H1 2 J 4T
OfRec- SNT17

1 1
(a) Increase by 15%/15% BIE:

(b) remain unchanged/=mRafia

1 1
(c) Increase by 115%/115% G|

1 1
(d) Decrease by 115% /115% !

If the price of petrol increases by 19%
and Sunitha intends to spend only an
additional 12% on petrol, by what
percent should she reduced the
quantity of petrol purchased (nearest

to an integer)?

Tfe U1 & 9o H 19% g 8 7 2R g
U TR Had 12% IRKT @d el a8 5,
9T S UL F WRIE] S aTell A # fohad
Oierera 1 Al R ANMRge (MaedH guiies H)
(@) 7 (b) 6

(c) 5 (d) 8

Monika spends 72% of her income. If
her income increases by 20% and

savings increase by 15%, then her
expenditure increases by: (correct to 1

decimal place).
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17.

AT AT A T 72% T w5 | AR
IHH A H 20% F g 8 8 AR TN
T2 H 15% F gig B SR B, O 99 Y H

fRd=1 OfereTa &1 gfg BF1T7 (S2Fed ¥ SlF &

I+ dh)
(a) 20.8% (b) 20.2%
(c) 21.9% (d) 19.8%

The price of oil is increased by 20%.
However, its consumption decreased by

1, . .
85 Yo, What is the percentage increase

or decrease in the expenditure on it?

Je T YT W 20% FhE BRI B AR s
@WS%% FH BT B S OR =T H e

o g o1 FE 880

(a) Increase by 10%/ 10% gf&

(b) Increase by 5%/ 5% gl&

(c) Decrease by 10%/ 10% &

(d) Decrease by 5%/ 5% FH!

Basir’s working hours per day were

increased by 15% and his wages per hour
were increased by 20%. By how much

per cent did his daily earnings increase?
IR & ofiufes @—9S # 15% gig @ TN
RS9 Ui =el e H 20%. 9f @ T
THI S A fhae uferra gfs 587

(a) 40 (b) .38

(c) 35 (d).36

If 25% of half of x is equal to 2.5 times

the value of 30% of one-fourth of y,
then x is what per cent more or less

than y?

e x @ TR BT 25%, v & TH—a T8 B 30%
® 2.5 A B RER B, A x, y I e
gferRTa eI 97 HH 7Y

1
(a) 335% more (b) 50% more

1
(c) 335% less  (d) 50% less

18.

Jeis

20.

21.

Q

In an examination, A obtained 10%
more marks than B, B obtained 20%
more marks than C and C obtained 32%
less marks than D. If A obtained 272
more marks than C, then the marks
obtained by B is?

T OET H, A 1 B 9 10% 3, B C 9
20% 3TEIF 3 Ui 7y = C 9 D 9 32%
T H U fRg | afd A @I C 9 272 3H
Fieeh Ul §Y, O B ® (=l 3k U<l 897
(a) 850 (b) 816

(c) 1020 (d) 952

0.02% of 150% of 600 is:

600 & 150% T 0.02% &

(a) 0.18 (b) 1.8

(c) 18 (d) 0.018

When a number is increased by 40, it
becomes 125% of itself. What is the
number?

19 {4 T BT 40 927971 ST 8, O 98 W

%1 125% BT SR 8| HeAT a7 857

{a) 200 (b) 60

(c) 160 (d) 100

In an exam of 300 marks a student gets
75 marks. If she had scored & more
marks she would have attained passing
percentage. What is the passing

percentage?

300 #1pT N Tk WRIET F Th el ar 75
¥ O BT F | Il 9 6 I AF Ut 59
B a1 g8 oo ufeerd urd R ordy | S

ufeerd 4T 87
(a) 25 (b) 30
(c) 35 (d) 27

A man’s annual income has increased
by Rs. 2 lakh but the tax on income tax
that he has to pay has reduced from
20% to 16%. He now pays the same
amount of tax as before. What is his
increased income (in Rs lakhs)?

Qe Sl &1 AN g W 2 o T gl
BRI B offch] IS FIRT T R YT [ o=
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27.

el AR 7 20% T 16% FH BRI 8| T8
e USel & HHM @R Bl HIII -l 5 | THD]
IS BS A (IRF T W) 9T 87

(a) 8 (b) 10

() 12 (d) 6

150% of 0.05% of x is 75. Find x.

x & 0.05% T 150, 75% B | X T 1o |

(a) 100000 (b) 75000
(¢) 125000 (d) 150000

A student multiplied a number by 4/5
instead of 5/4. What is the percentage

error in the calculation?

v el 9 vh ST R 5/4 F I9g 4/5
W U7 AT | S O W g8 OioRrd T T 87
(a) 16 (b) 25

(c) 36 (d) 20

Election were held in a society to elect a
chairman. There were only two
candidates A and B. Candidate B got 25%
less votes than candidate A. The number
of members who did not cast the vote was
same as the number of votes that
candidate B got. By how many votes did

A win if the society had 20000 members.
T H T IR B oY TR ARIE! W g
89 | I H el /T SHIGaR A 3R B 9| 9HER
B & SHIEaR A &1 Jelil | 25% A #d el |
AAET 5 6w de] Tawl ] TReAT SHISaR B BT
T 8 AT 1 TREAT & SRR € A T e
H 20000 TG 5, A1 A I o i€ W 8% |

(a) 6000 (b) 4000

(c) 8000 (d) 2000

250% of a = b, then b% of 250 is the
same as a% of .

AFT250%=bA 250 b%____ Ha%d

THE BT
(a) 625 (b) 10000
(c) 100 (d) 6250

0.08% of 120% of 50,000 is equal to

50,000 &1 120% T 0.08% & EREX B |
(a) 480 (b) 48
(c) 4800 (d) 4.8

28.

&

30.

31.

()

When a number is increased by 24,
it becomes 115% of itself. What is the

number?

e (R HAT &I 24 T% 9@ S 8 AT 98
TR w1 115% 81 ST 8| 98 ST 1 87
(@) 160 (b) 250

(c) 100 (d) 200

Two numbers are 40% and 80% lesser
than a third number. By how much
percent is the second number to be
enhanced to make it equal to the first
number?

QT TRy, faelt R T T 40% 3R 80%
T B | SEN el Pl e ok 9er o
IMRY & U7 Uge Tar & SXI8 8T o197

(a) 100 (b) 33.3

(c) 66.6 (d) 200

Price of diesel increased from Rs.45/
litre to 50/litre. How much should the
consumption of diesel be reduced (in
%) so as to increase expenditure by
only 5%?

SN @ Hed BT 45 T Uiy ofex I 98N
50 9 1T ellex fohar S 8 | Svial &l @ud

FT foe=T B9 (% ) far o9 7 =19+ $ad

5% 31 g B/IY

(a) 5.5 (b) 5

(c) 4 (d) 4.5

0.06% of 250% of 1600 is

1600 @ 250% &1 0.06%, & IXME%
BT |

(a) 24 (b) 0.24

(c) 0.024 (d) 2.4

Two number are 90% and 75% lesser
than a third number. By what % should
the first number be increased so that it

becomes equal to the second number?
a7 WYY Uk NI T=T T 90% 3R 75%
FHA B | TEell T H fha % g P ST
ARG MMk T8 THR] ST & GR[ER BT o177
(a) 250 (b) 200

(c) 150 (d) 100
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When a number is increased by 216, it
becomes 140% of itself. What is the

number?

79 el TT Wl 216 ¥ §@IaT ST 8, I U8
TR & 140% BT SR 8 | 98 ST T 87
(a) 540 (b) 756

(c) 450 (d) 675

A man donates 30% of his wealth to
charity. 30% and 25% of the remaining
wealth to his wife and son respectively.
The rest he divides equally between his
three daughters. One of his daughters
gets Rs. 42 lakh as her share. What was
the man’s wealth (in Rs Lakhs)?

Uoh e AU THRT T 30% ST el B |

I TERT BT HAT 30% AR 25% FHAIT
YT U] 3R F BT ST B | I P I8 AT
9 g @ 919 99 w9 9§ Aied R
2| S g H  Uh D 42 g . e
7 o9 of B qa iy (@rg v OF)
feper=1 fi?

(a) 280 (b) 400

(c) 500 (d) 350

If 35% are the passing marks. A student
gets 200 marks vyet fails by 24 marks.

What were the maximum marks?

T ST 3k 35% B | b fo=mil & 200 3@
Pt TR=] I8 24 3TRT T SRICL &1 74T | A1eaH
AT T B

(a) 820 (b) »550

(c) 640 (d) 680

A student gets 22 marks more in French
than what she got in German. Her

German marks are 28% of the sum of
her French and German marks. What

are her French marks?

) fremst ) el & T ) Qe 22 o
e et | S8 99 # el 3id e 3R oTFd
# el afdl & T BT 28% = | I ha H faha

s fer
(@) 14 (b) 36
(c) 18 (d) 42

36.

37.

38.

39.

40,

Q

2% of a = b, then b% of 10 is the
same as:

ad 2%=b,dq 10F b%, & IXEX BF
(a) 200% of a

(b) 20% of a/ 100

(c) 20% ofa/10

(d) 200% of a/f 10

A man’s annual income has increased
by Rs.1.2 lakhs but the tax on income
that he has to pay has reduced from
12% to 10%. He now pays the same
amount of tax as before. What is his

increased income (in Rs. Lakhs)?

Qeh SfRT & aifes 39 H 1.2 g % &1 g
BT 8 TR AT ORI aTel R 12% ¥ 10%
Bl ST B | 341§ T8 Usel @ AN #R FH IR
TRAT B | STP 961 B AW (A T H) foper 87
(a) 8.4 (b) 7.2

(c) 96 (d) 6

0.09% of 25% of 1200 is equal
to .

1200 & 25% & 0.09%,

& INER
T |
(a) 0.27 (b) 2.7
(c) 27 (d) 270

When a number is increased by 20, it
becomes 116% of itself. What is the

number?

o9 Rl TReT W 20 1T 9T & 9 98 WY
F 116% BT IR B | AT F0T 8117

(@) 100 (b) 250

(c) 125 (d) 400

Two numbers are 50% and 75% lesser
than a third number. By how much

percent is the second number to be
enhanced to make it equal to the first

number?

1 T e Y T B 50% 3R 7 5%
FH B | U AT DI (ha= WK g oY
for I8 U<l W1 & WRER B WL7

(a) 50 (b) 25

(c) 75 (d) 100
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Price of petrol increased from Rs 60/
liter to Rs. 75/liter. How much should
the consumption of petrol be reduced
(in %) so as to increase expenditure by
only10%?

Ul &) HIHd 60 % /eI I 9ghR 75 %
/e Bl O B | UgTE &) @Od @l fhaHl
FH (% H) HIAT AT A6 wd § dad 10%

2 o\
(&) 12 (b) 20
(c) 15 (d) 18

40% are the passing marks. A student
gets 250 marks yet fails by 38 marks.

What is the maximum marks?

ool 31 40% B fel o1 @l 250 3@
foerd B oReg {5 ¥ 98 38 el | il 87
ST B | e 3 FT 8P

(a) 720 (b) 750

(c) 800 (d) 840

Ravi is 12 vears younger than Survya.

Ravi’s age is 40% of the sum of his and
Surva’s age. What will be Surya’s age 9

yvears hence?

M, AT 12 9§ BIET 7| IR0 B A, S9w@
3R I Y I B AN FTA0% B | 9 T TS
Tt @ S, T B

(a) 36 9, * d

(c) 33 (d) 45

5% of a = b, then b% of 20 is the same
as

a @ 5% =b 1 20.F b%,
BT |

& gIER

a a
(@) 20% of =  (b) 50% of

o of & o of L
(c) 50% of 5 (d) 20% of m
A man’s annual income has increased
by Rs.5 lakhs but the tax on income
that he has to pay has reduced from
12% to 10%. He now pays Rs.10,000
more income tax. What is his increased

income (in Rs. Lakhs)?

40.

M9

48.

Q

T AT ol AN AF | 5 ARG BT Jhag s
g U] S gI=T HITT- ER IR ISR IR CE
12% 9 10% 81 ST 8 | 39 98 10,000 399
A TR PN I BT 8 | ITH] 981 B
A (T wY H) fhae 87
(a) 20 (b) 25
(c) 15 (d) 10
A boy found the answer for the question
"Subtract the sum of 1/4 and 1/5 from

unity and express the answer in
decimals" as 0.45. The percentage of

error in his answer was

T Fehl, UTH 1/4 R1/5 P AN BT 5P
H 9 geTd ik Otk <¥Fad H 3 @ ¥R 0.45
o B 9ES SER ¥ 3T B iR s
I |

(a) (100/11)% (b) 50%

(c) 10% (d) (200/11)%

A line of length 1.5 metres was
measured as 1.55 metres by mistake.

What will be the value of error percent?

1.5 #ex @1 Uh X@T @f Te 9 1.55 #iex
AT AT | Ff Wk 1A FT s

7
(a) 0.05% (b) 3%

1
©) 33% (d) 0.5%

A businessman imported Laptops,
worth Rs. 210000, Mobile phones
worth Rs. 100000 and Television sets
worth Rs. 150000. He had to pay 10%
duty on laptops, 8% on Phones and
5% on Television sets as a special
case. How much total duty (in
Rupees) he had to pay on all items as
per above details?

TH AR W 210000 $ & oI & Uiy,
100000 %. & 74 & "[gal B 3R 150000
T Hed & Selfoe Te A fRy | 9 AR
Iy & ¥, 20T IR 10%, B IR 8% 2k

ST OR 5% Yok HT I HRAT ISl B | I
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ST faReT R T SRl & oy fame
I (SO H) H A FRAT FAT7

(a) 36500 (b) 37000

(c) 37250 (d) 37500

1 :
A man spend 75% of his money and

after spending 75% of the reminaing,
he had Rs. 370 left. How much money

did he have.

1
T foRd W U EERIR Al 75% W TR

feg v AW IR AT 75% W TR b G©

SHF U 370 U Y 97 | SHF UTH fhd=)

EERTT 277
(a) 1200 (b) 1600
(c) 1500 (d) 1400

On a certain date, Pakistan has a
success rate of 60% against India in all
the ODIs played between the two
countries. They lost the next 30 ODIs
in a row to India and their success rate
comes down to 30%. The total number
of ODIs played between the two

countries is

v Piidea R R, <1 S B 8 @ T o
QR aE Har # IR 91 et H, difera @
THAT TR 60% 5 | T IR 3 3771 30 Thaaid
A BR Y SR 90 THadl @ &% 30% FH
B TS | SF1 92 & § Wl Y yhfeaed f
T Tl THT T B

(a) 50 (b) 45

(c) 60 (d) 30

What % of a day is 30 minutes ?

T fae o1 forgem bfeera 30 fime 87

(a) 2.83 (b) 2.083

(c] 2.09 (d) 2.075

A businessman's earning increase by
25% in one year but decreases by 4%

in the next. Going by this pattern, after
5 years, his total earnings would be

Rs. 72000. What is his present earning?

53.

D

55.

Q

forell oY Y =g UH 9y F 25% §§ I 8
3R SFH T T 4% T 9 8 | 39 UBR
Ofe oy TR S9! ff A8 72000 % BT |
SO&! A AT feRae B
() Rs. 10000/10000 %
(b) Rs. 80000/80000 <.
{c) Rs.40000/40000 <.
(d) Rs. 34000/54000 %
In an examination 73% of the
candidates passed in quantitative
aptitude test, 70% passed in General

awareness and 64% passed in both. If
6300 failed in both subjects the total

number of examinees were

T IRIET #H, 7 3% IHNSIR TRATHE TG gl
T IRIET 7 TRl 53, 70% ARG TR adr §
T BY @R 64% S # SOl g7 afe SEr
oS % 6300 THIGaR S0 §Y T TRy
&1 Fodl HEAT T 277

(a) 60000 (b) 50000

(c) 30000 (d) 25000

A man spends 75% of his income. His
income increases by 20% and his
expenditure also increases by 10%. Find

the percentage increase in his savings.
RIS HfdT AT ST HT 75% e HRal 7 |
TUHT 3T 20% ¥ VAT 8 IR SR T 97
10% 9% ST & | S9! &9 ¥ fohd= wfaerd &

PE-R-C1
(a) 25% (b) 50%
(c) 15% (d) 10%

The ratio of the number of boys and girls
in a school is 3:2. If 20% of the boys and
25% of the girls are scholarship holders,
the percentage of the school students

who are not scholarship holders is

TE ey ¥ oed IR ol B TR a
I 3 : 28| IR 20% i 2R 25% Tt
P BIEYRT U< 8, AT fdenay & 94 =
T Ui T 8, (578 BEgcy ur T8l 87
(a) 56 (b) 78

(c) 70 (d) 80
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A Number is increased by 20%. To get
back to the original number, the

increased number is to be reduced by
Rl e Pl 20% 9T a1 Sl B | el S
U &hxe & folw §gTs TR TR &I fohas %
wH fhar AT =fEe?

(a) 20% (b) 21%

(c) 16%% (d) 14%%

A Village lost 12% of its goats in a flood
and 5% of remainder died from diseases.
If the number left now is 8360. What was

the original number before the flood?
foRl Mg T 12% TR3GT 918 & 98 T3 3R A9
IHRAT F T 5% THRIT 7 R F wR® 778 |
¥§ #fs Ta F 8360 FHRAT IM B, AT TN
FHfo % 918 T usal M9 H IHRAr & 9
T F7 2017

(a) 1000 (b) 10000

(c) 1,00,000 (d) 8360

A scored 72% in a paper with a
maximum marks of 900 and 80% in
another paper with a maximum marks

of 700. If the result is based on the
combined percentage of two papers, the

combined percentage is

A =1 900 HfEramad 2wl TTel] Uh TET H 72%
AR 700 AfrgeA ih! arel Y@ =T gReTT |
80% 3t T fadt | afa afvoms g4 e &
T WiRTd 0= SRR 8, O Sgaa ukEd
T 77

(a) 75.5% (b) 76%

(c) 76.5% (d) 77%

An army lost 10% of its men in war, 10%
of the remaining died due to disease
and 10% of the rest were declared
disabled. Thus, the strength of the army
was reduced to 7,29,000 active men. The

original strength of the army was

el I & 10% ST+ g o TR 5E, IV H
10% TG KT B 7= 7Y 308 IW H Y 10%
T AT NG B (ST 7| 39 ThR I A

60.

o1.

02.

03.

04.

ﬁ (+

qfepa STaEr & e 7,29,000 X8 TS| 5

e

AT (6 TAT 9 SaFT &) Hel 9T 97 977
(@) 1500000  (b) 1000000

(c) 1200000 (d) 1100000

Water tax is increased by 20% but its

consumption is decreased by 20%. Then
the increase or decrease in the

expenditure of the money is

Sl TR H 20% HI Jlag B k] THH! WU
20% ¥ 8 & | 91 o & @ H fra g ar
el 587

(a) 4% increase / I

(b) No change / ®Ts GfRac &l

(c) 4% decrease. / &I

(d) 5% decrease / HHI

If 60% of A =30% of B, B= 40% of C and
C =x % of A, then value of x is.

e A&l 60% = B &1 30% 5, B = C @
40% 3R C = A FT x% 8, T x BT AF &

fa) 800 (b) 500

(c) 300 (d) 200

If an office, 40% of the staff is female.
70% of the female staff and 50% of the
male staff are married. The percentage

of the unmarried staff in the office is
o pratera # ih BT 40% ARaTT & | 70%
AfEe wIT AR 50% Jo¥ WTiH ErEd 8 |
FHrarerd H AREIET W H AR =T 87
(a) 54 (b) 60

c) 42 (d) 64

If a number multiplied by 25% of itself
gives a number which is 200% more

than the number, then the number is
Tfe Rl TRegT &7 9HS 25% 9 T TR |R
T ST, 9 W@ ¥ 200% At 5, O 98

TRET T BY
(@) 12 (b) 16
(c) 20 (d) 24

The value of an article depreciates every
vear at the rate of 10% of its value. If
the present value of the article is

Rs.729, then its worth 3 vears ago was



63.

60.

67.
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T IK] & Hed H R aY 9HS Hod & 10% T
R Y FY BT 8 | AT TR B IIAH J 729
T B, A1 3 a¥ gE SHH eI [T er?

(a) Rs. 1250 (b) Rs. 1000

(c] Rs. 1125 (d) Rs. 1200

The price of onions has been increased
by 50%. In order to keep the expenditure
on onions the same the percentage of

reduction in consumption has to be
TS % el H 50% 1 gl 88 8 | ol IR Gy
P URA B TAM @A F Y SO # fha

Ui T hR=T BIHP

1
(a) 50% (b) 333%

(c) 33% (d) 30%

A man had a certain amount with him.
He spends 20% of that to buy an article
and 5% of the remaining on transport.
Then he gifted Rs.120. If he is left with
Rs.1,400, the amount he spent on

transport is

Te A & U G5 ORI B | S 9 R @
20% T IR TR H @9 (a7 3R TN @ 5%
gRas @R @ T | R 991 120 % &1 @R
fag | IEToR afe S8 o 1,400 % 3N 9=k 3,
T S gRT URas =R (har T fohaer or?
(a) Rs. 76 (b) Rs. 061

(c) Rs.95 (d) Rs. 80

In an examination, 52% of the candidate
failed in English and 42% failed in
Mathematics. If 17% failed in both the
subjects, then the percentage of
candidates, who passed in both the

subjects, was

T ORIET H, 52% SRR el H 3R 42%
0T W IOl 89| Afq |F AN H 17%
ST §Y, 1 94 ST [A5IT H [T IHIGaRT
T U fehaAT 2P

(a) 23 (b) 21

(c) 25 (d) 22

In an election there were only two
candidates. One of the candidates

09,

70.

71.

a

secured 40% of votes and is defeated
by the other candidate by 298 votes. The

total number votes polled is

TFH gAE H dhadd I SHEAR 9| 99 TH
THIRER BT 40% # Hel 3R 98 39 ISR
¥ 208 w7l ¥ BR AT | GEIHR <l Y Hal
AT &1 T T efi?

(a) 745 (b) 1460

(c) 1490 (d) 1500

1
A number increased by 225% gives 98.

The number is
. : 1
T Wl W 2% g HY W a8 98 7
SR | 98 ] R &P
(a) 45 (b) 18
(c) 80 (d) 81
In an examination A got 25% marks
more than B, B got 10% less than C

and C got 25% more than D. If D got
320 marks out of 500, the marks

obtained by A were?

TH TRIET H A BT B H 0T 25% AE P
et | S B @1 C 31 21UeT 10% &4 31 fHel
IR C P D I IET 25% AH AF Fer|
AEI9R, afe D @ 500 ® & 320 3w At ar
A TT e o ey &7

(a) 405 (b) 450

(c) 360 (d) 400

Three sets of 40, 50 and 60 students
appeared for an examination and the

pass percentage was 100, 90 and 80
respectively. The pass percentage of the

whole set is

T RIET |, 40, 50 T 60 BE @ A9 ST
S T foraT SR O SHdT ST AR R
100, 90 7 80 o7 | gRI&T H F1 e SBT3 &l
SITOT HfeRTe fahe=r err?

2 2
(a] 885 (b] 845
1 1
() 833 (d) 843
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72. 1If each edge of a cube is increased by
50%, the percentage increase in surface
area are is
I Uk =9 BT T D [RIRT 50% §T 241 91T,
AT IS IS SFma H a1 Ui giag sef1?
(a) 125%

(b) 50%
(c) 100%
(d) 75%

73. If each side of a cube is increased by
10% the volume of the cube will
increase by
TS Gah &4 61 Iedeh qoll ®T 10% &I (31 oY
q1 =4 faraw dfeera g we?

(@) 30%
(b) 10%
(c) 33.1%
(d) 25%

74. A reduction of 21% in the price of an
item enables a person to buy 3 kg more
for Rs.100. The reduced price of item
per kg is
frel avg & o9 W 21% ) FHE BN IR DI
fdd 100 00 § 3 four o o ori<

,

1. (d 2. (b) 3. (e 4. (b) 5 (b)
11.{d) 12.(b) 13.(c) 14.(a) 15.(b)
21.(b) 22.(a) 23.(c) 24.(d) 25. (a)
3l.(c) 32.{(a) 33.(b) 34.(c) 35.(b)
41.(a) 42.{a) 43.(d) 44.(d) 45.(b)
51.(b) 52.(c) S3.(c) 54.(b) 55.(b)
61.(b) 62.{c) 63.(a) 64.(b) 65.(b)
71.(a) 72.{a) 73.(c) 74.(d) 75.(a)

73.

76.

ANSWER KEY

0.

10.
20.
30.
40.
56.
60.

70.

Q

TR B | O] H URT (I =T 82l Hed a7
BT

(a) Rs. 5.50 (b) Rs. 7.50

() Rs.10.50 (d) Rs. 7.00

The number that is to be added to 10%
of 320 to have the sum as 30% of 230 is
320 F 10% & HI9 O WA FAIS! o1 TR0
f T 230 F 30% & IRER BT SIQ?

(a) 37 (b) 32

(c) 23 (d) 73

The strength of a school increases and
decreases in every alternate vear by

10%. It started with increase in 2000.
Then the strength of the school in 2003

as compared to that in 2000 was

U Thel H OE @) O H Old YR Oy H
10% 1 Jhg =R A 8 9 51 SO 9y
2000 # 9fg 53, T 2000 T T H, 2003 H
BTl &l T fhal sl

(a) Increased by 8.9%/8.9 glig

(b) Decreased by 8.9%/8.9 Hl

(c) Increased by 9.8%/9.8 Jfg

(d) Decreased by 9.8%/9.8 gfg

© 7. (¢ 8 (® 9. (¢ 10.(a)
(b) 17.(c) 18.(a) 19.(c) 20. (d)
(b) 27.(a) 28.(d) 29.(a 30.(d)
(b) 37.(b) 38.(a) 39.(c) 40.(d)
(d) 47.(c) 48.(a) 49.(b) 50. (c)
(d) 57.(0) 58.(a) 59.(b) 60.(c)
(d) 67.(a) 68.(c) 69.(c) 70.b)
(@)




